
 

Categoria catastale 

 

 

R.C. = rendita catastale 

 

Coefficiente 

 

A  (esclusa A/10)  C/2 –  C/6 – C/7  

 

 

R.C. + 5%    

 moltiplicata per 

 

160 

 

 

B –  C/3 –  C/4 – C/5 

 

R.C. + 5%    

 moltiplicata per 

 

140 

 

 

A/10  –  D/5 

 

 

R.C. + 5%    

 moltiplicata per 

 

80 

 

 

D 

 

R.C. + 5%    

 moltiplicata per 

 

65 

 

 

C/1 

 

 

R.C. + 5%    

 moltiplicata per 

 

55 

 

 

D/10 

 

 

R.C. + 5%    

 moltiplicata per 

 

65 

        

 

 

Aree fabbricabili 

 

  

Valore venale in 

commercio al 1° gennaio 

dell’anno di imposizione 

 

 


